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One day, Mr. Mouse called Mr. Rabbit. <l
“made “cookies. Please come to my house,”
“said Mr. Mouse. Mr. Rabbit loved cookies,
s0 he “left home.

He “came to the “river, but he didn’t see the
“bridge. “Oh, the “storm “broke the bridge
yesterday. What a bad day!” said Mr. Rabbit.
So, he went to the next bridge. There he saw
a big "bear. “Oh, the bear is coming to me!
What a bad day!” Mr. Rabbit ran away, and
he “ran into the forest. He walked through
the forest. “It’s “dark and cold in the forest.
What a bad day!” said Mr. Rabbit.

“Finally, he got to Mr. Mouse’s house. “I’m sorry, I’'m “late,” said Mr. Rabbit.
“That’s OK,” Mr. Mouse said, “let’s eat cookies.” Mr. Rabbit ate a lot of cookies and
said, “These cookies are delicious. “What a good day!”

(%) made : make D LT cookie(s) : 7 v ¥ — said : sayg@%ﬁ? left : HF L7z

>

b
came : come DB EHZ  river 1 )1 bridge : #& storm : & broke : #E L 7=

<E Iz
What a bad day! : 72 A CHEWH 2 AU7Z,  bear: i€ ranaway : 2Kif7=  raninto ~ :
<
~ZHITIAA TS forest ¢ A& dark : BEU finally © K H°< late : LT
What a good day! : 72 A TV HZRATE,




(M
(2)
)

(4)
®)

Mr. Mouse and Mr. Rabbit lived together.

Mr. Mouse and Mr. Rabbit’s “town “had a storm yesterday.

The storm broke the bridge yesterday.

So, Mr. Rabbit didn’t go to Mr. Mouse’s house.
Mr. Rabbit saw a bear in the forest.

Mr. Rabbit ate a lot of cookies.
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